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Piston Displacement Lesson 3 Quiz Name W

c
Solve the following using the cubic inch displaccment formula and convert to the indicated
unit. Show work and use appropriate units,

1. A V-6 engine block has a bore of 4.25 inches, a stroke of 3. 5 inches. Calculate the cubic
inch displacement in cubic inches. If the bore is increased by .25 inches, what is the increase in

the CID in cubic inches?

Ciyy = 185 % H.'&Szx%‘s ¥ o
QID = 2a% cublie inches
N [Bore =H. 25 +.25 =H50n
Merd CTH = 1% x '-[.61":&3.‘57)&{@
Nach T = 3234 culsic vxa\\_n‘;;

CID wnecoase = 334 - aﬂ% 31& a_t{h:w:_iﬂf@"?i»g

2. A V-8 engine block has a bore ol 3.125 inches, a stroke of 3.875 inches. Calenlate the cubic
inch displacement in cubic inches. If the engine is modified with a .5 inch increase in the stroke,

what is the increase in the CID in cubic inches?

ATh = IEERY % 3025°%3875%
CId = Q38 cuble nehe s

Newd Shroke = 33715 4.9 = H.3750vches
Newo CIO =188 % 3,125% » 4. 375 X8
Neeor Cxdd = QLR comic inches
CIN mergase = LT ~QRE =

3. A V-8 engine block has a bore of 4.050 inches, a stroke of 3.25 inches. Calculate the cubic
inch displacement in Liters. If the bore is increased by .5 inches, what is the increase in the CID

in Liters?

CIL = I85Y ¥ 4,058 x 3.5 % &
CID = 2328 cubie Iﬁc‘..“tr'~-9u..5
Rews Beore = H 0RO S =Y 65

News CID = [REH X 4S5 % 3,25 X8 .
‘ ~ q e
News CTD = H272 colic in ches H23 i, l{&figﬁ foec. (OqL
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233510, 163%e, L = 55
Ttind  Joovec

CID inevease = LA =58 4L

s H22-335 2 8% ind, 2% 1L - Ly
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4. A V-6 engine block has a bore of 3.125 inches, a stroke of 3.25 inches. Calculate the
cubic inch displacement in Liters. If the bore is increased by .225 inches, what Is the increase in
the CID in Liters?

T
CIOL = 1254% 3325 % 2,25x o PP ‘ 5

. ) —
CIDT |50 coke tnehes LAl A= = 950

I in
Nea) Borez 20254 .225 T3,35in

Noea 0 = . 7834 % 3.38%y 3,25 %lp
Newd CID = (772 cobic inches

CID increase = 2% -25 ={.3L
B\ 2-190: 22 w139 1L
"TE R leen T 2
5. A V-6 engine block has a bore of 3.375 inches, a stroke of 3.25 inches. Calculate the
cubic inch displacement in cubic inches. If the bore is increased by 025 inches and the stroke is
increased by .5 inches, what is the increase in the CID in cubic inches?

CTO = .7854Xx 3.3 % 3,6 o
it =\ H coloe lmc&ua <

Newd gwe_. = 3.37% +.025 = 3,4 in

Nows Shvelte = 3,25 4.5 = 3,75in

New €D = 1894 % 347X 375x b

Neeo CTi> = Q04 colbic inches J—

OTD neseoasSa = 204 — \7H = \ 30(’;\3?& e Evzch&.‘f;;{
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